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1.IRA+B+C=nafRliga e

sin2A + sin2B + sin2C = 4sin A - sin B - sinC.
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2ICA+B+C=m dfligafe

cos2A + cos2B + cos2C = —4cos A.cosB.cosC — 1
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3.3 A+ B+ C =naiRg® &
A B C

sinA +sinB + sinC = 4cos?c053c057

Oaﬂ%ﬁrméﬁ

43CA+B+C=rnadRigm= &
B C

cosA +cosB+cosC =1+ 4sin? . sin? . sin?
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53 A+ B+ C = 180° difRig & &

cos2A +cos2B+cos2C =1—2cosA-cosB - cosC
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6.3CA+B+C=nadfRg® &

tanA +tanB + tanC = tan A - tan B - tanC
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7.AABC # Rig &3 fb

tA tB t = cot t t
co+2—i—co2+co2—co2 co2 co2
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8. g & fp
tan(B — C) + tan(C — A) + tan(A — B)

= tan(B — C) - tan(C — A) - tan(A — B)
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9.9 ¢ + y + z = zyz @l fe@m f

3z — 3 3y — 3 3z—z3_3a:—zc3 3y—vy3 3z-—z
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1.6 A+ B+ C = 180° (31Td ) dl g v b

sin2B + sin2C — sin2A = 4sin A - cos B - cos C.

O drdsw

2.3 A+ B+ C = 180° (31Td ) dl g & b

cos2A + cos2B — cos2C =1 —4sinA -sinB - cos C.
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3.3 A + B+ C = 180° (31Td ) df g & b

1 1 1
sinA + sin B — sicn = 4sin§A. sinEB . COSEC
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4.3 A+ B+ C = 180° (31Td ) dl &g &9 b

1 1 1
cos A+ cosB —cosC = 4ccos§A . cosEB sinEC -1
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53 A + B+ C = 180° (31Td ) l g & b

sinB 4+ sinC — sin A ¢ 1B ¢ 10
_— an— . an_
sinA + sinB + sinC 2 2
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6.3 A+ B+ C = 180° (31Td ) I g & b

sin2A + sin2B + sin2C 1

1 1
= 8sin—A. sin—B. sin—C
sinA + sinB + sinC S 2 S 2 St 2
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7.9 A+ B+ C =180° (AT ) MR fp

sin2A = sin2B + sin2C 8si lA o1 Bsi 1
= 8sin—A - sin— - Bsin—
sinA + sin B + sinC 2 2 2C
o difed IR A

8.3 C A+ B+ C = 180° (3T n) Al RAg = b

cos A cos B cos C

=2
sinB-sinC  sinC -sinA sinA -sinB
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9.9 A+ B+ C =rndifliga e

sin®? A + sin® B + sin® C = 2(1 + cos A - cos B - cos B)
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10.ICA+ B+ C=nrdiRfiga &

cos’ A + cos’ B+ 2cos A - cos B - cos C = sin> C

O drd s &

NIGCA+ B+ C=nafRliga e

cos’A + cos’B —cos>’C =1 —2sinA -sinB - cosC.

O drd sw
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1A+ B+C =nadRgm

sin? A — sin? B + sin? C = 2sin A - cos B - sin C.

O drd s &

BICA+B+C=nadRgm e

1 1 1 1 1 1
.. 9 .. 92 .9 . . .
sin 3 A + sin 3 B + sin 3 C=1- 2sm—2 Asm—2 Bsm—2 C
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1MICA+B+C=nrdiliga &
5 A . o B , C A B c

sin 5 -+ sin 5 sin 5 =1 2cos? . cos; . sma
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15. AABC A g & f&

cot A-cot B+cotB-cotC +cotC-cotd =1
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16. A ABC g & f&

B
tan? . tanE + tan? . tan? + tan? . tan? =1
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17.AABCH Riga f&

cot B + cot C N cot C + cot A N cot A + cot B B
tan B + tanC tanC + tan A tanA +tanB
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18. A ABC A g & f&

tan2A + tan2B + tan2C = tan2A - tan2B - tan 2C
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19. AABC # g &% fb
tan(B+ C — A) + tan(C + A — B) + tan(4 + B — O)

=tan(B+C — A) - tan(C + A — B) - tan(A + B — C)

O dtd s

20. g &9

sin(8 — ) + sin(y — a) + sin(a — 8)
1 1

—|—4sin%(,3 — ’y)sina(v — a)sinE(a -B)=0

O ded s
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21.Rg = b
cos?(B — ) + cos?(y — a) + cos*(a — B)=

1 4 2cos(B — 7y)cos(y — a)cos(a — B)
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